Mudflap rear
TOYOTA Corolla 2013->

Preparation
ZXﬂspring clip

&
&

Installation

a) Ix @ screw @ 4.2x16 mm
b) 3x @) screw @ 4.2x16 mm

Apt.: EXP.NLF.48.64.E10

s " Mudflap - 2 pcs. Screw @ 4.2x16 mm - 2 pcs.
et package Screw @ 4.2x16 mm - 6 pcs. Spring clip - 4 pcs.




